
Fill in the space with either x or ÷ so that the calculation is correct:

542         10 = 54.2

473         100 = 4.73

Multiplying and Dividing by 10 and 100
34 x 10 =           

65 x 100 =           

53 ÷ 10 =           

87 x 10 =           

785 ÷ 100 =           

64 x 10 =           

39 x 100 =           

283 ÷ 10 =           

65 ÷ 10 =           

42 ÷ 10 =           

17 x 100 =           

453 x 10 =           

34 x 100 =           

24 ÷ 10 =           

124 ÷ 100 =           

736 x 10 =           

Fill in the missing numbers:

67 x            = 670

640 ÷            = 6.4

68 ÷            = 6.8

73 x            = 7300

46         10 = 460

37         10 = 370	

True (T) or False (F): 

67 x 100 = 670

568 ÷ 100 = 0.568

809 ÷ 10 = 80.9

64 x 10 = 640
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Fill in the space with either x or ÷ so that the calculation is correct:

542 ÷ 10 = 54.2

473 ÷ 100 = 4.73

Answers
34 x 10 = 340

65 x 100 = 6500

53 ÷ 10 = 5.3

87 x 10 = 870

785 ÷ 100 = 7.85

64 x 10 = 640

39 x 100 = 3900

283 ÷ 10 = 28.3

65 ÷ 10 = 6.5

42 ÷ 10 = 4.2

17 x 100 = 1700

453 x 10 = 4530

34 x 100 = 3400

24 ÷ 10 = 2.4

124 ÷ 100 = 1.24

736 x 10 = 7360

Fill in the missing numbers:

67 x 10 = 670

640 ÷ 100 = 6.4

68 ÷ 10 = 6.8

73 x 100 = 7300

46 x 10 = 460

37 x 10 = 370	

True (T) or False (F): 

67 x 100 = 670

568 ÷ 100 = 0.568

809 ÷ 10 = 80.9

64 x 10 = 640

F
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T

T
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